
)16(2019 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

C2H5 




 

BAC 2019 

 

BAC 2019 







17
 



 


3 

~ 

V 

0 150 

50 100 

  30 V 

       3 V 

150 V 

  15 V 

450 V 

R1 

5 F 

N S 

 

www.facebook.com/physiquetacheta  

0.5 N 0.5 N 

10 



)26(2019 

3332019 

 

 
1 

 E 
 bL 
60R   
K 
I0t K 

 R

b

u f t
u

 Ru g t 

23 
1 bu t 

2  Bt
bu t Ae AB

 
3 Ru t 


 
 

R

b

u t
u t

t 

4 R

b

u f t
u

 Ru g t 

L 
E 

bu10t ms 

6 i t  0 1
t

i t I e 
 

  
 
 

0I

 
7 

 

 

 

 

 

 

 

E  
 b  

R  

K  

1  

0  5  

1  

( )t ms  

R

b

u
u

 
2  

50  

1  

 Ru V  

( )t ms  

3  



)36(2019 

0  

 310bE J
 

20
 

 t ms
 

5  

IICE 

 b4 

1)(tq 
2   0 0cosq t Q t   

0Q0t  
 

0L
C 

35 
5. 

C 
 
80t ms 

 
 

 

 0S 2 2H O 110V

1L110L
 

I10 S10mL

 4K MnO 10,5 .C mol L

7,9EV mL 
1 
2 

 2
4MnO Mn  2 2 2O H O 

3 S 0S 

4 

 2 2 2O H O 2 2 2H O H O 

 110V 

II20mL S

1V L20 C  

 
2O

P f t6 

1maxx 
2

 

C

K

+  b

4  



)46(2019 

   2O
P K Pa

 mint0 12

5

6 

31 2t   
2

2
1 2 2

f
O

P O
P t  2fP O

 
4

  252 10 O
vol

d P
v t

dt
 

 
5
 ' 

 tgPO 
2


 

122,4 .MV L mol 8,31R SI 

 


 2.10 smg 

I Sgm 100AAB

BBv7 

 xfEC 

 S AB8 
 
 
 
 
 
 
 
 
 
 

1 S 

2a AB 

 AB 

3CE SxxmaEC . 

4 xfEC  

AB 

Bv SB 

      
 

 

 

  

 

 

 JEC  
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E e
u t e e
u t Ee e






 




 

 
 

     

4 

 R

b

u f t
u

t 
 
 

1 1 2,71 1 1,71R

b

u
e

u



    10ms  

L 


L
R

 L R 310 10 60 0,6L H    

E 
   Rg t u t Ru t ata

0t  0

0

..... 1R

t

du E Ea e
dt  

   



)76(2019 


   3 1

3
3 0 0,6 10 . ..... 2

5 0 10
a V s 


  

 
 1 2

3 10,6 10 .E V s


 3 3 30,6 10 10 10 0,6 10 6E V         

bu10t ms 

   b RE u u     b Ru E u    6 3,8 2,2bu V    

6 i t  0 1
t

i t I e 
 

  
 
 

 

   1
t

Ru t E e Ri t
 

   
 

  1
tEi t e

R


 
  

 
0

EI
R

 

0I0
6 0,1
60

EI A
R

   

7 

 22 3
max 0

1 1 0,6 0,1 3 10
2 2bE LI J      

II1)(tq 

    0b Cu t u t 
    0

di t q t
L

dt C
  


    0

dq t q tdL
dt dt C
 

  
 


   2

2 0
dq t q t

L
dt C

 
     

2

2

1 0.... 1
dq t

q t
dt LC

  

2 
0t   00q Q0 0 cosQ Q  

cos 1 0  
0LC 

  0 0cosq t Q t
 

0 0 0sin
dq t

Q t
dt

 
 2

2
0 0 02 cos

d q t
Q t

dt
  


     

2
2
02 0.... 2

d q t
q t

dt
  1 22

0
1
LC

 0
1
LC

  

35.  
E

3
max 3 10bE J 3cm31 1 10cm J  

C 

0
0

2
T
 0 68T ms0 3

2 92,4 /
68 10

rad s  


 

2
0

1
LC

 2
0

1 1 195,2
0,6 8537,76

C F
L




  


 

 
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 

 

2 2

2
2 2 2 20

0 0 0 02

2
2 20

0 0

2 2 2
20

1 1
2 2

1 1cos sin
2 2
1 cos sin
2
1 1 1
2 2 2

C b CE E E Cu Li

QE C t LQ t
C

QE t t
C
Q C EE CE
C C

  

 

   

 

 

  

2
0

1
LC

  

 
80t ms 

80t ms  380 2 10bE ms J     380 80 10C bE ms E E ms J   
 
I1 
2 

 2 2 25 2 2H O O H e     

 2
4 22 8 5 4MnO H e Mn H O        

2
4 2 2 2 22 5 6 2 5 8MnO H O H Mn O H O       

3 S 0S 


   4 2 2

2 5
n MnO n H O

 

   2 2 42,5n H O n MnO  2 2 1
0,5 7,92,5 2,5

10
ECVH O C

V


    

  1
2 2 1 0,9875 .H O C mol L  

0C 0S 

10F   1
0 2 2 10 10 10 0,9875 .C H O C mol L     

  1
0 2 2 0 9,875 .C H O mol L  

4 
2 2 2 2 2H O O H e    

2 2 22 2 2H O H e H O    
2 2 2 22 2H O O H O  

 

2 2 2 22 2H O O H O   
 0 0n  
 x 0 2n x  
 maxx 0 max2n x  
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 110V 
0 max2 0n x 0 max2n x 

   2
2 max

110 4,91
22,4

f
f

M

V O
n O x mol

V
    

0 2 4,91 9,82n mol  
  10 2 2

0
9,82 9,82 .

1
n H O

C mol L
V

   

1 1
0 9,82 . 9,87 .C mol L mol L   

II1maxx 

 2 maxfn O x 2.f fP V n O RT 

 max 2
.f

f
P Vx n O
RT

  

 
3 3

3
max 2

4,8 5 10 1 10 9,86 10
8,31 293fx n O mol


   

   


 

2 2fV O 

   2
2

f
f

M

V O
n O

V
    3

2 2 9,86 10 22,4 0,22f f MV O n O V L      

 2 0,22fV O L 

 
1L

 

20m L S 2 0,22fV O L 


 2

20 0,22
1000 f

mL L
mL V O


 

 2 11fV O L 

1L 0S 2 10 11 110fV O L   

  2 0,22fV O L 

3   
2

2
1 2 2

f
O

P O
P t  

t   
2 2O OP t V n t RT 

2O
x RTP t
V

  

  max
2f

x RTP O
V

 

1 2t t   
2

1 2
1 2O

x t RT
P t

V
 

2

max
1 2 2O

x RTP t
V

 

   
2

2
1 2 2

f
O

P O
P t  
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 

   
2

3
32

1 2
4,8 5 10 12 10

2 2
f

O

P O
P t Pa 

   1 2 10,2mint   

4  252 10 O
vol

d P
v t

dt
  

  1
vol

T

d xv t
V dt

 
2 2O OP t V x RT2 2O OP V

x
RT

 

  2 21 O O
vol

T

V d P
v t

V RT dt
    2

3

3

1 10
20 10 8,31 293

O
vol

d P
v t

dt



  
 

 

  252 10 O
vol

d P
v t

dt
  

0t  

 
3

5 52

0

20 10 00 2 10 2 10
12 0

O
vol

t

d P
v

dt
 



 
    


  2 1 10 3,3 10 . .minvolv mol L    

5   

 
2O

P g t 

 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

   2O
P K Pa

 mint0



 
  
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I1 S 
 
 
 
 
 
 
 

2a S 

 S

amF ext amRP XX 'maPX  

    sinsin mgPma  singa  

 S AB 

 singa Cstea . 

3CE SxxmaEC . 

t
2

2
1mvEC xavvxav A .2.2 222  

 xamEC .2
2
1

)1.......(.xmaEC  

4 xfEC  

ABmxAB m 5,255,0  

Bv SB
2

2
1

BC mvE
B
m

E
v BC
B

2
 

BC
Emxm 5,2JE

BC
25,1525,0  


1.5

1,0
25,12  smvB 

a)2.......(.xEC  


1.5,0

5,2
25,1 




 mJ
x
EC 

)1()2(ma
1.5

1,0
5,0  sm

m
a 

 

 singa  

 S  

B  

X

'X
A 

  

R  

P  
  



)126(2019 

  5,0
10
5sin 

g
a

 30 

II1 S OyOxO ,, 

)0t( 









myx
xx

B

B

8,1)0(
0)0(










)sin(
)cos(



BBy

BBx
B vv

vv
v

 

 S

amF ext amP  Ox








mgPma
ma

y

x 0











ga
a

y

x 0
 Ox Oy 

2 tx ty














g
dt
tdv

a

dt
tdva

y
y

x
x

)(

0)(

 










)sin()(
)cos()(




By

Bx

vgttv
vtv



 















)sin()(

)cos()(





B

B

vgt
dt
tdy

v
dt
tdx

 











)2....()sin(
2

)(

)1.....()cos()(

2
BB

B

ytvtgty

tvtx





 

 

3 xfy )1()cos(
)(
Bv
txt 



 

)2(B
B

B
B

y
v

txv
v

txgxy 









)cos(
)()sin(

)cos(
)(

2
)(

2




 

B
B

ytxtx
v

gxy  )()tan()(
)(cos2

)( 2
22 
 

 Oy

Bv  

  

x  

y  

O C  

B  



)136(2019 

8,1)()30tan()(
)30(cos52

10)( 2
22 


 txtxxy 

8,1)(58,0)(22,0)( 2  txtxxy 

4OC 

C0Cy


08,1)(58,0)(22,0 2  txtx 

92,18,1)22,0(4)58,0( 2 38,1 

mx 45,4
)22,0(2

38,158,0
1 




01 x 

mx 82,1
)22,0(2

38,158,0
2 




mOC 82,1 

Ct 

tvtx B )cos()( 



Ctt CBC tvOCtx )cos()(  

sv
OCt

B
C 42,0

)30cos(5
82,1

)cos(


 

Cv
22

yx CCC vvv 








)sin()(
)cos()(




By

Bx

vgttv
vtv


 

Ctt 













1

1

.7,6)30sin(542,010

.33,4)30cos(5

smv

smv

y

x

C

C

 


122 .8)7,6()33,4(  smvC 
 
II 

1 S 
 

 

l R 
mKg 

'TP 'TP  

lKmg K
mgl  

2 tx S 

 S 

 S  

x  

 R  

'x



l

P

 

x  

 

'x
 



T  

'T  

P  

x  
 

x  

 

'x
 



 

 



)146(2019 

amF ext amTP  

 xx 'maTP 
 

  2

2

dt
xdmxlKmg 


2

2

dt
xdmKxlKmg  

0 lKmg2

2

dt
xdmkx 


)...(02

2

IIx
m
K

dt
xd

 

0T 

  )(22cos2
2

00
0

2

0
2

2

tx
T

t
T

X
Tdt

txd

























 

 

)(IIm
K

T









2

0

2
K

mT 20  

3 tEPe  2)(
2
1 tKxtEPe  

  







 t

T
Xtx

0
0

2cos 
 

2

0

2
0

2cos
2
1









 t

T
KXtEPe


 

 

0TsT 2,04105 2
0  

 

0w
1

0
0 .4,31

2,0
14,322 


 srad

T
w 

 

K R 

K
mT 20 m

K
T

2
0

24
 

1
22

0

2

.100
2,0

1,01044 


 mN
T
mK 

 

 )(0X 

 
2

0

2
0

2cos
2
1









 t

T
KXtEPe


0t    2

02
1max0 KXEE PePe 

 


 
K

EX Pe max22
0 

  cmm
K

EX Pe 202,0
100

22max2
0 


 

  JEPe 245,0max  

 thx    ttx 4,31cos2,0 
 
 

  0)(2
2

0
2

2









 tx

Tdt
txd 



)156(2019 

 
 

 

 
 
 
 

  أي ملاحظات أفيدونا على الخاص  و شكرا لكم

  2019امتحان بكالوريا بالتوفيق لكم في 
 


